SR
HE AL AN _
Cro ASEN SAMN =X (&9 58)
K- B2 e (3H) - MRAY - BES Ofl & o8 pIE-Lt s
39,783,299 38,856,922 926,377
- = 18,812,750 18,342,750 470,000
2 4,570,000 4,570,000 0
= 16,400,549 15,944,172 456,377
2,786,056 2,835,106 A49,050
daEHd = 240,000 240,000 0
< 2,546,056 2,595,106 A49,050
2,786,056 2,835,106 A49,050
S8 SHHE =D = 240,000 240,000 0
< 2,546,056 2,595,106 A49,050
JRSAEUY 62,685 68,263 Ab,578
201 LEt2 3| 41,054 45,815 AN4,761
01 AL=R2e2lHl 3,060 3,600 A540
OMAIRIR &g 3,060 3,600 AB40
03 AI2ZHI 37,994 42,215 A4,221
ONTH M= 8,640 9,600 A960
OBEN XHZD Y BEE HE 29,354 32,615 A3,261
301 LBEAZ 21,631 22,448 AB17
10 SAAHIEAZ 4,631 5,448 AB17
OMAISIH B0 4,631 5,448 AB17
NGO2I Bt Hl ot = Rl B | 183,000 195,000 A 12,000
307 21240/ A 173,000 185,000 A 12,000
IEEEREES 173,000 185,000 A12,000
OHELA 21823 AXAME 23| 135,000 145,000 A 10,000
O=MEI} 2L 8,000 10,000 £2,000
Y EEREEE] 161,04 168,800 A7 576
201 Ler2 | 3,000 3,900 A900
03 AI2ZHI 3,000 3,900 A900
ONERR SHHZHRE2 g ZZHE 3,000 3,900 A900
310 29l0IA 149,724 156,400 16,676
IEVETE 149,724 156,400 16,676
OBI0-GAS JI== 2 (2Xt&) 143,324 150,000 6,676
BIEEIAIAE(EMS) 2Z 8,500 10,000 A 1,500
201 LEt2 3| 8,500 10,000 A 1,500
01 AR22ld] 8,500 10,000 21,500
OQISAAH W 2| 8,500 10,000 A1,500
22T 242N AN 4,400 7,900 3,500
303 Za3 4,400 7,900 A3,500
01 Za3 4,400 7,900 8,500
O1BI18E Z01)| SARA A4 0 3,500 A3,500
BUE HAWE Ao 9,077 114,973 18,89
201 Ler2 | 31,485 37,041 A5 556
01 ArR2eld] 31,485 37,041 Ab5,556
OxnE dAEEZE & /IEH S ME 4,285 5,041 AT56




A B

muEALC Al ]
Cro ASEN SAMN =X (&9 58)
SN - HH R (SIH) - MRAY - BAS Ofl &k 1o E[fmE=FT

OANHMEBIAN & BN S M2 A 12,775 15,000 A2,225

o=z ¥ AR BHN2E S 9,325 11,000 A1,675

oMY U EHZ, MRS M 5,100 6,000 A900

202 018 38,192 44,932 A8,740

ETCE 38,192 44,932 26,740

OEZ =20 tHEALE ¥XESH 9,735 11,452 AN1,717

OXXH L EYLH FAEX 3,060 3,600 AB40

OSZESE0F QIAXLE] 19,277 22,680 A3,403

OSSN JAAY FAIAE A 6,120 7,200 1,080

203 Q=AY 26,400 33,000 26,600

08 AREFALEXY] 26,400 33,000 26,600

OBALT-LANST| EA 16,000 20,000 4,000

OSFEHH LA FX 8,000 10,000 A2,000

CEEEE NI mESES] 2,400 3,000 600

1,177,325 242,875 934,450

Hole 2& = 633,750 183,750 450,000

= 543,575 59, 125 484,450

1,177,325 242,875 934,450

WEs SIE =X = 633,750 183,750 450,000

= 543,575 59,125 484,450

HILEEa MAHE 2el 1,700 4,000 A2,300

206 M=z Hl 0 2,000 A2,000

01 MZHl 0 2,000 A2,000

OBAEN 244 2 0 2,000 £2,000

01 LerEaz 1,700 2,000 A300

10 SAFAHRAD 1,700 2,000 A300

ORUSH HIBAAR BEHY 1,700 2,000 AB00

275,625 238,875 3,750

HOIATISRHNGY) 22(2D) 2 183,750 183,750 0

= 91,875 55, 125 3,750

275,625 238,875 36,750

403 XX SIS XHO0/ & = 183,750 183,750 0

= 91,875 55, 125 3,750

01 UXSRA=LE 275,625 238,875 36,750

O&AIIA HSK E2(16CH) 275,625 238,875 36,750

= 183,750 183,750 0

= 91,875 55,125 3,750

900,000 0 900,000

HIOIQUEIR S HAES A (=12) = 450,000 0 450,000

< 450,000 0 450,000

900,000 0 900,000

401 AlEH 220 = 450,000 0 450,000
= 450,000

0 450,000
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SAEA™ DL
)| ed 2 N
Ciol: =5t 2)|A SX (St &)
SN EB . S(B) - MTAY - B Ol & o4 plf=F HIRS
01 JI=ZAMEHHI 200,000 0 200,000
OZAHEAL ZH(HA) 2 100,000 0 100,000
2 50,000 0 50,000
= 50,000 0 50,000
OMTSHNAE 8Y 100,000 0 100,000
= 50,000 0 50,000
= 50,000 0 50,000
02 ALAI&H] 700,000 0 700,000
OXISAF HBEIAIY A AL 700,000 0 700,000
2 350,000 0 350,000
< 350,000 0 350,000
8,698,849 8,708,066 9,217
pap—— = 894,000 874,000 20,000
i 4,570,000 4,570,000 0
= 3,234,849 3,264,066 729,217
1,332,325 1,340,900 A8,575
45 XoIEH B 2 720,000 700,000 20,000
[= 612,325 640,900 28,575
IS BN ] 206, 125 242,500 36,375
207 SRy 9,000 40,000 ~31,000
01 olmgoy) 9,000 40,000 31,000
OXHeIEHZ ME}Z AL 0 20,000 £20,000
OZXE MR 2FX S THDA 9,000 20,000 11,000
301 YA 2,125 2,500 A375
10 SHAAIHI R A2 2,125 2,500 N
OXteisd 2} 3|9 1,275 1,500 ~225
OXteIEE M= AOILH &4 850 1,000 A150
307 Q120 & 195,000 200,000 25,000
05 DIt 195,000 200,000 25,000
OXtoists R 29| 195,000 200,000 25,000
ME X R 2 A 56,200 48,400 7.800
403 XHXISHHI S KH2 0l & 7.800 0 7.800
01 XXESHX=ExX 7.800 0 7.800
OARIHZ XSS AER AlL =Y 7.800 0 7.800
NHAMEYRa02 EMESH X2 (2D) 20.000 0 20,000
= 20,000 0 20,000
308 X XIEHHISOI® 20,000 0 20,000
= 20,000 0 20,000
01 XXESHIABEZ 20,000 0 20,000
OXICIME] 240i2 BHES X 20,000 0 20,000
= 20,000 0 20,000
i 511,504 512,166 N
OME - A2 BS = 174,000 174,000 0
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AT EH E

DTSR R .
Crol: 245 Xjoist 2 (S5l 82)

2H -3 2qA(3AH) - MEAY - HES 0| &l J| A Hnsz
EREEE = 337,524 338, 166 2642
OHESES 20,358 21,000 642
301 Lpre A 5,358 6,000 642
12 JIErEAR 5,358 6,000 A642
OOMES Uy AKX TA 5,358 6,000 642
EECETICEEERS 80,804 30,610 50, 194
NEEET 5,315 0 5,315
Zo2 oAyl X 56,315 0 56,315
101 Q124 56,315 0 56,315
08 JIEtA A 56,315 0 56,315
OHIOIQUIE NEX H123 A 56,315 0 56,315
o3 44,800 0 44,800
03 2,800,0008 22«82 44,800 0 44,800
ONELY 1,600 0 1,600
S 40,0002 <2 +824 640 0 640
TS 20,0002 6% <82 90 0 960
OXZEEH| 155, 0002 <224 *82 2,480 0 2,480
O M B A 130, 0002 <22 +82 2,080 0 2,080
OAIRIQ| 2% 6,5008 %351 2H2 2 <82 3,640 0 3,640
oo &=t 50,0002 2 x84 800 0 800

O I A

2,800, 0002 %70/ 100%1/30%7 2 %2 915 0 915
PIEET 24,489 30,610 16,121
SN2Y Jl=A 24,489 30,610 A6, 121
201 Lt | 12,825 16,030 A3,205
01 Ar222lH] 11,356 14,194 12,838
OBN2Y AR 2] 11,356 14,194 £2,838
02 22| 1,469 1,83 A367
O=A2Y 2229 1,469 1,836 A367
202 01| 8,064 10,080 £2,016
01 =0t 8,064 10,080 £2,016
oRA2Y U0 8,064 10,080 A2,016
405 RHAHEI S| 3,600 4,500 900
01 KALSEFH| 3,600 4,500 900
O=ADI(10H) 3,200 4,000 800
OBA(1CH) 400 500 A100
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